40°

® 40°

@ /QOP
B /P

O POQ
@ /0



i



22 733} Zro] ,ADC =90°, /B = /C ¥ 1], AABD = AACD
dS HQl Aojtt,
(7h, (vh el o2 g2 59 A7
B7]
A
.
B D C

AABD £} AACD <4

/ADB = (7}, (W) & 5%

/BAD =90° - (t}) = 90° - «C = (2})
.. AABD = AACD (v}) &

@ (7}): .ADC @ (WH): AD ® (4): B
@ (2D): .CAD ® (u}): SASEE



ﬂ
E

|



5.

o2 F+= 59 oA 50m 273
a=2%9 0, 7|20] 12 AR E £& A
Sfod e,

29 ekl 548
Bk Sake Aol AGEE

Eolct,

o2

24"‘* ~ 257

2579 ~ 26"

26 ~ 277

2701’2} N 28U]"J

28°7% ~ 29"

mw\]wa,\




ot#] 5| AETRL o]u vk YO BRAS e Aol BF
A7k 40kg PIEHQ1 S-S A O] F % 17}

071730 1 50 1 70 (kg
20 40 60 80

@D 4% ® 16% ® 24% @ 36% ® 40%



o2 ofi w8 9] 1 8}7] Bk 9l Ho] +5 2Apsto] Lk

%

o}
stofet,
(9)

14

12 ,’

/

10 7

TR

6 N /‘_

4

2

0135 7 9 1113(H)



g2 zgoly v 54 30 ol 97)7] 7|8e ErREGAgoR
Uhebdl 21918 57k Mol A Kol eFech. 30m mEre] B4 47}
30m o]49] 8hg S1T 2 W WOHE & uf, 25m o4} 35m n]Rke]
spe Ae] B %7k, a4 AARRIl A Weg )
(d)
10 \l o
8\ A
N—J
6 7 N
4 \
2 // \

Z 1\
0 152025303540 (m)

O <F 54% @ °F55% ® °F56%
@ °F 57% ® °F 58%



9. the 2elA za o Szte] A4

@ 17§ @ 2 74 ® 374 @ 4 7} ® 57}



2017} acm, 13cm, 15cm 2t & o, ¢ o] HYE

@ a<15 @ 0<a<28

B 2<a<?28



11. o= J2-3 go] 24 1 & S 2 5] a9 =g 1 9342 o
A71E YAE=Z o] 2Eele?

-2cm

@ 72rcm? @ 86mcm? ® 90rcm?

@ 967cm?2 3 1007rcm?2



3

Z

= SHF Bt TV A

A
=5
ojn

oy

Jolct, AlFghol 22.5

At 2

221 0.1 HY

N

A&
5t
5}

o]
=

—~~
5o
72| 1212
M__._l

EoOE O R

m_ [ [5_ [ [m

0 (O[O [0
WI_W — (A AN .
AR .__M

]

w RO k0 %0 R0 %

o [o_|o_ [o_ [

O |Oo|w (O

— |||

BO



=
=

@A el o]zt 19 4

A]

5

13.

sholat,

:,7_

O
=

o] Zyolo] H43t

o=
T

iy

HES 2ol

)

o]
=



Y B 2ASle] ekl 52
(HZ_]_- E_%}\]._TI_ l:ﬂ—/%] o] /\7]_ 50
o] o]}z)} 110 ¢ o] U]D]—O] 7_—]__('3_3

B9k AR 2A e

do
= S,
Q n.lg
Hoetyo ki
g8
S
=)
re
rg

071750 T 90 1130 f(2)
30 70 110 150




fof Lpeb Rt
]_

S

ol o

60 1(2))

40

50 70

30

1’ S,

20

10



